Crack the Code

Small Numbers in Standard Forwm

7 x 108 = 0.007

2 x 102 = 0.00002

9 x 1072 =(0.09)

3 x 109 = 0.03

0.008 =(8)x 1073

6 x 10~* =(0.000k

2.1 x 107 =[0.21]

7.6)x 1073 = 0.0076

0.00043 = 4.3 x 105

8.3 x 1071 =[0.83]

7x10°=(7]

4.31 X 1072 =[0.043}1

0.0065 = 6.5 x 105

9.2 x 105 = 9.2

45 x 1072 = 4.5 x 102

0.0205 =[2.05)x 1072

7.8 %x 1072 =(78]x 1073

R50x 1076 = 2.5 x 1074

6.3 x 1073 =(0.0043

0.17x 1074 = 1.7 x 107>

Add together all your answers to give the three-digit code. 336




